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fla) =z —2z +C(C HEBHEO .z € [0,2].
f) RFEBLM £(0) =0, HLTTH C=0. B, % r € [0,2] 0, f(z)=z"—2z.
B f(z) MEAYHERTE, (D =f(—D=—f) =1
1LIERY z e

A7) R B 2 = Lin 2.
L

_dGz) _

=2 w2
Sl

o S AR EER 2 S+ =uin L ERAH
&
tlnt—1t
# 5D =< RAL 18 C=2

12. U8R =
U] AR R AN IR R

i—xvﬁiilrilﬂ"fﬁﬁ1§,t=e"’” (CHEBHEO Bty =2 (CHEBHEO.
B, HE y() =& WHBMAN y =z,

J’x =cos §,
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Ftyy 1<y<2
1, y>2.
(2) B (D) ALY W& RN
3
T 0<y<1L
FO=L 1<y <
0, Hit.



SR K LR T, B2 "SurEEl A GECT Wik B El

2 1 3 21 3
'ﬁflE(Y)=Lyf(y)dy=L Ty +,[. =

23. BATY ()X B8 BE B 30

Flaso)=
0, =<0,
o 2 £
# EcO=["er@dr=[" % = [T arae
:

2

=—ze '

L(0)=Jo—"'e L@ > 06 =1,20m),
0, HAth.
BHK S lnL(€)=21nx.-+nln2—nln0——01—
2

4 e M 1 Sce e 33
Higpln L©) = a+a*Z—{‘ ;4.159—"21,,

B0 BRI D, =1 S x:.
Xy X X, WIS e FHABEII 0 FosbRn - ST (RERMTF

EX") . M« =EX)=0,48 Ve >0,limP{|§ —a|>c)=0.



	1
	2
	3
	4
	2021_08_09_14_44_000001
	2021_08_09_14_44_000002
	2021_08_09_14_44_000003
	2021_08_09_14_44_000004
	2021_08_09_14_44_000005
	2021_08_09_14_44_000006
	2021_08_09_14_44_000007
	2021_08_09_14_44_000008

